
 

                      WINCH MOUNT HONDA 

                            

 

 

 

 

 

 

Remove the bolts that hold the middle bumper support arms 

to the frame.  

 

Remove the front lower plastic skid plate 

 

The main winch mount plate will go inside the front end and 

on top of the middle bumper support arms. 

 

You may attach winch to winch mount ahead of time it may 

make it easier to get the lower winch mount bolts in.  bolts for 

winch will be included with the winch. 

 

Use the 8mm bolt in the bolt bag with the flat washers to 

attach the winch mount to the location you removed the 

bumper mount bolts from. Do not tighten yet. 

 

Hold the fairlead plate in place on the front of the bumper to 

the cross member and use the 5/16 bolts and lock washer to 

go through the fairlead bracket, bumper and thread into the 

main winch mount plate. 

 

Once all is in place tighten bolts and replace lower plastic skid 

plate. 

 

Attach fairlead to fairlead bracket with hardware provided by 

winch company. 

 

 

 

 

 

 

 

 

 

 

 

 

QUESTIONS or COMMENTS CALL 320-964-1616, Monday thru Thursday 7:00 to 4:30 CST                                 INST1520  

ITEM PART# QTY. DESCRIPTION

1 1520-1 1 Winch Mount Plate

2 1520-2 1 Fairlead Plate

3 HDW1054 2 8mm x 25mm Hex Bolt

4 HDW2050 2 5/16 x 3/4 Hex Bolt

5 HDW9002 2 5/16 Flat Washer

6 HDW9004 2 5/16 Lock Washer


